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Circle the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in
pronunciation in the following questions:

Question 1: A. hackers B. employs. C. implants D. turtles

Question 2: A. traded B. shadowed C. protected D. suggested

Circle the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary
stress in each of the following questions.

Question 3: A. shortlist B. tailor C. survive D. colleague
Question 4: A. apprentice B. activate C. candidate D. habitat

Circle the letter A, B, C, or D to indicate the word CLOSEST in meaning to the underlined word in the following
questions.
Question 5. But for two thousand years, when human do not exit any more, David is found and

resurrected by future A.l.

A. killed B. revived C. destroyed D. exterminated
Question 6. The famous model was actually recruited when she was walking in a shopping mall.

A. employed B. enlisted C. drafted D. fired
Circle the letter A, B, C, or D to indicate the word OPPOSITE in meaning to the underlined word in the following
guestions.
Question 7: The daughter of a blue-collar factory worker, Anne grew up on a council estate in Bracknell.

A. physical B. manual C. laboring D. mental
Question 8 : This scholarship is being established in her name as a permanent reminder of her work.

A. long-run B. ever-lasting C. stable D. temporary

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 9: We urged thathe __a second chance to prove himself.

A.be given B. give C. gave D. was given
Question 10: Where's_ USB drive that I lent you last week?

A a B. an C. the D. No article
Question 11: We are looking forward____ for that famous company in 3 weeks.

A. to work B. working C. work D. to working
Question 12 : is someone who has just joined a company and organization.

A. recruit B. recruiter C. recruitment D. recruiting
Question 13 : Recently, Toyota __ many new car models.

A. releases B. has released C. had released D. was releasing
Question 14: By the time we arrive, the kids __ to bed.

A. will be going B. are going to C. will have gone D. had gone
Question 15:. Yesterday, my mother had the curtains____.

A. changed B. to be changed C. change D. changing
Question 16: she spends doing exercise, she feels.

A. the more time/ the more healthier B. the much time/ the more healthier

C. the many time/ the more healthy D. the more time/ the healthier
Question 17: This is cake | have ever tasted

A. most delicious B. more delicious

C. as delicious D. the most delicious
Question 18: Don’t worry about your necklace. Give it to me and I promise to great care of it.”

A. bring B. take C. keep D. make
Question 19: New employees have to an initial period of probation when they will assess their performance
and provide some training.

A. make up B. go through C. put up with D. turn down
Question 20: the shortage of hospital employees at that hospital, the head of the administration began advertising
job openings in the newspaper.

A. Because of B. Because C. Although D. In spite of

Question 21: Many A.l. experts believe that A.l technology will make better advances in many areas.



A a B. an C. the D. No article
Question 22: Mary asked me
A. whether | would watch the football match on TV the day before.
B. whether | watched the football match on TV the day before.
C. If I had watch the football match on TV the day before.
D. whether I had watched the football match on TV the day before.
Question 23: “Leave my house now or I'll call the police.” Shouted the lady to the man.
A. The lady promised the man to call the police if the man didn’t leave her house
B. The lady told the man that she would call the police if he left her house.
C. The lady informed the man that she would call the police if he didn’t leave her house
D.The lady threatened to call the police if the man didn’t leave her house.

Circle the letter A, B, C, or D to indicate the option that best completes the following exchange.

Question 24: Hoa: “ That’s a very nice skirt you are wearing” Lan: ¢
A.How a compliment B. That’s all right
C.It’s nice of you to say so. D. You’re welcome.
Question 25:  Tim: “It seems to me that giving free meals to the poor is a good idea.”
Peter : « what you mean but [ think that would be expensive for the government.”
A.l see B. | agree C. 'm sure D. I strongly believe

Read the following passage and choose the letter A, B, C or D to indicate the correct word or phrase that best fits
each of the numbered blanks:

Hi, readers! I saw a really interesting documentary last night about new technology. It doesn’t just affect our schools,
our homes and our cities; it affects our jobs, too. Part of the documentary showed just how much technology (26)

the world of work in the future, and | know many of you are teens (27) career choices very soon.
To begin with, there will probably be floating offices on lakes and on the sea. This is because people will build houses
on all the green spaces and there will be less room for new buildings on land. Also, more people will (28) work

from home. For example, people will do work online and send it to an office. That will probably result in fewer office
buildings in the centre of the city.

On the other hand, some people may (29) _their jobs in the future. Consider the example of robots. These
will replace some people. Robots have already replaced some factory workers, but now they will begin to replace other
jobs, too. (30) , traditional jobs will certainly disappear. For instance, some shops won’t accept cash so that
will mean fewer cashiers.

The jobs we do and the way we do them might be very different in the future. I think that the future will be a great place
to work as long as we can find jobs for all the people that may lose their jobs. We mustn’t forget about them. So what
are your opinions, readers? Leave me your thoughts in the comments below.

Question 26: A. change B. change C. has changed D. will change
Question 27: A. taking B. doing C. facing D. getting
Question 28: A. definite B. definitely C. definiteness D. define
Question 29: A. apply B. have C. lose D. get
Question 30: A. However B. In addition C. Because D. But

Read the following and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each
of the questions :

Amphibians are an animal group that includes frogs, toads, salamanders, and newts. These animals live in and out of
the water. The number of amphibians on our planet is declining rapidly in both local mass extinctions and population
crashes. This is a cause for concern as many scientists believe that humans are responsible.

Since the 1980s, scientists have noticed a decline in amphibian populations. Although many animals are affected by
humans, amphibians have been hit particularly hard. Some scientists believe this is because of their two-stage life cycle.
Unlike most animals, amphibians live their lives in two distinct stages. The first is aquatic and the second is terrestrial.
This means amphibians are sensitive to environmental changes in the water and on land. They also have permeable skin,
which means that toxins and chemicals can easily get into their bodies.

At first, some scientists did not believe that human pollution was the cause for changes in amphibian populations. These
scientists believed that every species on Earth goes through natural cycles and changes and that there was not enough
long-term data to prove that humans were the problem. In recent years, this has changed. Almost all biologists are
concerned about the decline in amphibian populations._They are worried not only because many amphibians may go



extinct, but also because these extinctions will affect other plants and animals in ecosystems. They believe that the
decline in amphibian populations is a warning to humans to stop polluting and clean up Earth.
Question 31. Which title best summarizes the main idea of the passage?

A. Endangered reptiles B. Endangered amphibians

C. Amphibian life cycle D. Amphibians and reptiles
Question 32. According to the passage, which of the following is TRUE?

A. The number of amphibians is decreasing rapidly. B. The number of amphibians is increasing.

C. The number of amphibians is going up. D. The number of amphibians staying constant.
Question 33. In paragraph 2, the word noticed is closest in meaningto .

A. studied B. analysed C. become aware of D. started to work on
Question 34. According the passage, which of the following is TRUE about amphibians?

A. First they live on land, then in the water. B. First they live in the water, then on land.

C. They mainly live in water. D. They mainly live on land.
Question 35. In paragraph 3, the word they refersto .

A. biologists B. amphibians C. scientists D. species

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer
to each of the questions

Given the American manufacturing tradition, it was also inevitable that cars would be produced in larger volume at
lower prices than in Europe. The absence of tariff barriers between the states encouraged sales over a wide geographic
area. Cheap raw materials and a chronic shortage of skilled labor early encouraged the mechanization of industrial
processes in the United States.

This in turn required the standardization of products and resulted in the volume production of such commodities as
firearms, sewing machines, bicycles, and many other items. In 1913, the United States produced some 485,000 of the
world total of 606,124 motor vehicles.

The Ford Motor Company developed more quickly than its rivals in reconciling state-of-the-art design with moderate
price. Cycle and Automobile Trade Journal called the four-cylinder, fifteen-horsepower, $600 Ford Model N (1906-
1907) “the very first instance of a low-cost motor car driven by a gas engine having cylinders enough to give the shaft
aturning impulse in each shaft turn which is well built and offered in large numbers.” Deluged with orders, Ford installed
improved production equipment and after 1906 was able to make deliveries of a hundred cars a day.

Encouraged by the success of the Model N, Henry Ford was determined to build an even better “car for the great
multitude.” The four-cylinder, twenty-horsepower Model T, first offered in October 1908, sold for $825. Its two-speed
planetary transmission made it easy to drive, and features such as its detachable cylinder head made it easy to repair.
Its high chassis was designed to clear the bumps in rural roads. Vanadium steel made the Model T a lighter and tougher
car, and new methods of casting parts (especially block casting of the engine) helped keep the price down. Committed
to large-volume production of the Model T, Ford innovated modern mass production techniques at his new Highland
Park, Michigan, plant, which opened in 1910. The Model T runabout sold for $575 in 1912, less than the average annual
wage in the United States.

By the time the Model T was withdrawn from production in 1927, its price had been reduced to $290 for the coupe, 15
million units had been sold, and mass personal “automobility” had become a reality.

Question 36: What is the main idea of the fourth paragraph?

A. Henry Ford B. Highland Park, Michigan
C. Ford Model N D. Model T
Question 37: How many motor vehicles did the U.S. produce in 1913?
A. 485,000 B. 606,124 C. 600, 000 D. 825,000

Question 38: Which of the following is NOT true, according to the passage?

A. The Ford Motor Company developed more quickly than its competitors.

B. Twenty-horsepower Model T was first offered 1908, sold for $825.

C. Ford innovated modern mass production techniques in 1910.

D. Mechanization of industrial processes didn't require the standardization of products.
Question 39: word "moderate” in paragraph 3 is closest in meaning to

A. expensive B. reasonable C. comfortable D. high
Question 40: The word "its" in paragraph 5 refers to :
A. production B. coupe C. Model T D. reality

Question 41: Which of the following can be inferred from the passage?



A. New production techniques made the price of the Model T runabout reasonable.
B. Model N was stronger than Model T.
C. Innovated modern mass production techniques failed to open in 1910.
D. Large-volume production of the Model T couldn't be operated.
Question 42: The word "detachable" in paragraph 4 is closest in meaning to .
A. inactive B. removable C. excellent D. imaginative

Circle the letter A, B, C, or D to show the underlined part that needs correction.
Question 43: An unexpected rise in the cost of living as well as a decline in employment opportunities
have resulted in the rapid creation by the new government programmes for the unemployed.

A. employment B. rise C. have resulted D. the unemployed
Question 44: Smart robots have replaced humans in stressful and dangerous jobs, and in ssemble lines doing tasks such
as packing and lifting heavy things.

A. lifting B. assemble C.and D.in
Question 45: My grandpa started using the computers in the local library to access the Internet when my father bought
her a smartphone 5 months ago.

A. when B.in C. using D. her

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of

the following questions.
Question 46: “ Water freezes if the temperature falls below zero, ““ my teacher said.
A. My teacher told that water freezes if the temperature falls below zero.
B. My teacher said that water froze if the temperature fell below zero.
C. My teacher said that water freezes if the temperature falls below zero.
D. My teacher told that water froze if the temperature fell below zero.
Question 47: My car needed servicing, so | took it to a garage.
A. | took my car to a garage to have someone serviced it.
B. | took my car to a garage to get it service.
C. I took my car to a garage to get someone service it.
D. I took my car to a garage to have it serviced.
Question 48: Lan is the best volleyball player in my school.
A. No one in my school plays volleyball as good as Lan.
B. No one in my school played volleyball better than Lan.
C. No one in my school plays volleyball as well as Lan.
D. Lan played volleyball better than anyone in my school.
Question 49: Because Tom didn’t work hard, he lost his job.
A. If Tom hadn’t worked hard, he would have lost his job.
B. If Tom had worked hard, he would not lose his job.
C. If Tom worked hard, he wouldn’t lose his job.
D. If Tom had worked hard, he wouldn’t have lost his job.

Question 50: The woman is a doctor. We talked to her at the shopping mall yesterday.
The woman whom we talked at the shopping mall yesterday is a doctor.
The woman we talked to at the shopping mall yesterday is a doctor.

The woman we talked at the shopping mall yesterday is a doctor.
The woman which we talked to at the shopping mall yesterday is a doctor.

COwm>

----- THE END -



SO GD&DPT LAM PONG DAP AN PE KIEM TRA GIUA HQOC KY 2
TRUONG THPT BAO LQC NAM HQC 2023-2024
MON: TIENG ANH 12 ( CHUONG TRINH MOl)
Thoi gian lam bai: 60 phat

0
(e

MD 401 MDb402 MD 403 MD 404

Alala|plwlwlwlwlw|w|lw|lw|lw|lw|[m i N N R R R ek e e e e e
BRI |o|o|NS TR IGINIRIS O 0| NN R S|olo|wo|o|s | wicl~|o|@@N|o|o s (W (N |2

o
~

N
ol

I
o

N
\‘

o
o3

o
©

W O|OO000wWOm@>0|w0>0T>wO>wwOmwO0o>0000>wwdo>0w>0o0n>00>w>0mo
W OI0|00|>|0|0|0|0|>|Ww|w|0|0|>0|w|> 00> 00> w >0 w0 0w e >0wo>0>w>womomoo
>OwWO|I0OwO|w>0wW0O>0|>wO|>wwO|wOowo0|oO0>r0o 00> wwoo>0w>o0n>0|0 > w
pdleliwliviiwibdiviiviiwlivibdiellvipdiviielpdiviielbdivibd{ellviieliwliuiielivibdiellviiwibdivipdiviielpdiviiviielivlieliviiviiviiellvlle]

a
o







